
R0015269 Fit Frame ancillaries

Instructions to �t ancillaries such as wire basket

Introduction
Tools Required

Standard hex key set

125mm cutting disc /grinder

Standard spanner set

Standard hss drills

Standard tap set

Engineers level

Tape measure

Parts Required

A0001060 x 6

A0001065 x 2

A0001061 x 6

D0015611 x 2

D0015070B x 2

Medium 2 hour(s) Dif�culty  Duration

Contents

Introduction

Step 1 - Unless otherwise stated

Step 2 - Fit basket brackets

Step 3 - Fit �rst wire basket

Step 4 - Fit 2nd wire basket

Step 5 - Fit 3rd wire basket

Step 6 - Fix wire baskets

Step 7 - levelling bracket positions

Step 8 - Drill and mount levelling brackets

Step 9 - Mount cabinet braces

Comments

Page 1 / 6



Step 1 - Unless otherwise stated
Use loctite 243 on all fasteners

Use Loctite 572 on all threaded pneumatic connections

Pen mark all bolts to show �nalised

Step 2 - Fit basket brackets
Fit 6 off basket support bracket to pre drilled holes at indicated points .

Secure using M8 x 20 socket caps and Large M8 washers

Page 2 / 6

https://stuga.dokit.app/wiki/Fichier:R0015086_Assemble_Pneumatics_on_to_electrical_cabinet_loctite_243.png
https://stuga.dokit.app/images/thumb/5/52/R0015075b_Fit_Frame_ancillaries_Screenshot_17.png/ia-f42be52655712209848e9f20ac393f4f-1000px-R0015075b_Fit_Frame_ancillaries_Screenshot_17.png.png
https://stuga.dokit.app/wiki/Fichier:R0015075b_Fit_Frame_ancillaries_Screenshot_18.png
https://stuga.dokit.app/wiki/Fichier:R0015075b_Fit_Frame_ancillaries_Screenshot_19.png


Step 3 - Fit �rst wire basket
Ensure all wire baskets are �tted to the shown slots

1 Lay 1 full length of A0001065 wire basket between these points

2 Position end to be mid bracket

3 Allow overhang this end

Page 3 / 6

https://stuga.dokit.app/images/thumb/d/d7/R0015269_Fit_Frame_ancillaries_Screenshot_2023-10-09_153554.png/ia-ba4371902a3f99e6b1e422ae1d6caa14-1000px-R0015269_Fit_Frame_ancillaries_Screenshot_2023-10-09_153554.png.png
https://stuga.dokit.app/images/thumb/0/07/R0015075b_Fit_Frame_ancillaries_Screenshot_21.png/ia-bc196291683c0f303da52eb3180b6f1c-1000px-R0015075b_Fit_Frame_ancillaries_Screenshot_21.png.png
https://stuga.dokit.app/images/thumb/4/4b/R0015075b_Fit_Frame_ancillaries_Screenshot_23.png/ia-b4216452fc0baac016cb3ce98133cf4a-1000px-R0015075b_Fit_Frame_ancillaries_Screenshot_23.png.png
https://stuga.dokit.app/images/thumb/2/2c/R0015075b_Fit_Frame_ancillaries_Screenshot_22.png/ia-8ac3a36bd39948c3b40e99b054e1c904-1000px-R0015075b_Fit_Frame_ancillaries_Screenshot_22.png.png


Step 4 - Fit 2nd wire basket
1 Measure and cut a piece of wire A0001065 wire basket to bridge between indicated points.

Step 5 - Fit 3rd wire basket
2 Measure and cut section of A0001065 to bridge between point 2 indicated

Page 4 / 6

https://stuga.dokit.app/images/thumb/2/22/R0015075b_Fit_Frame_ancillaries_Screenshot_26.png/ia-ccef5ef732d80b126ef79f15f330c22e-1000px-R0015075b_Fit_Frame_ancillaries_Screenshot_26.png.png
https://stuga.dokit.app/wiki/Fichier:R0015075b_Fit_Frame_ancillaries_Screenshot_24.png
https://stuga.dokit.app/images/thumb/2/22/R0015075b_Fit_Frame_ancillaries_Screenshot_26.png/ia-2fb6914380ab7c3b55f6f2f804daa223-1000px-R0015075b_Fit_Frame_ancillaries_Screenshot_26.png.png
https://stuga.dokit.app/wiki/Fichier:R0015075b_Fit_Frame_ancillaries_Screenshot_25.png


Step 6 - Fix wire baskets
Fix wire baskets to support brackets using 6 off A0001061

Use M6 x 20 button sockets, M6 penny washers and m6 nyloc nuts

Step 7 - levelling bracket positions
2 off Leveling brackets D0015611are �tted to indicated positions

Page 5 / 6

https://stuga.dokit.app/wiki/Fichier:R0015075b_Fit_Frame_ancillaries_Screenshot_27.png
https://stuga.dokit.app/wiki/Fichier:R0015075b_Fit_Frame_ancillaries_Screenshot_28.png
https://stuga.dokit.app/images/thumb/d/db/R0015075b_Fit_Frame_ancillaries_Screenshot_29.png/ia-acc7321c7cbd91cbb44e580f4da4ced6-1000px-R0015075b_Fit_Frame_ancillaries_Screenshot_29.png.png


Step 8 - Drill and mount levelling brackets
Position bracket as shown and drill 1 off M6 tapped hole and secure with M6 x 20 socket cap and heavy washer. Use engineers level to level

bracket, then mark and drill second M6 tapped hole.

Finalise fasteners, whilst using level to ensure bracket remains level on the indicated plain.

Repeat for 2nd bracket position

Step 9 - Mount cabinet braces
Mount 2 off D0015070B cabinet braces to indicated point on main

frame

Use 4 off M8 x 30 socket caps and Heavy M8 washers to secure

Page 6 / 6

https://stuga.dokit.app/wiki/Fichier:R0015075b_Fit_Frame_ancillaries_Screenshot_30.png
https://stuga.dokit.app/images/thumb/4/4f/R0015075b_Fit_Frame_ancillaries_Screenshot_31.png/ia-7b72241b3dfe5af02417c315c4f3a1e5-1000px-R0015075b_Fit_Frame_ancillaries_Screenshot_31.png.png
https://stuga.dokit.app/images/thumb/9/96/R0015075b_Fit_Frame_ancillaries_Screenshot_32.png/ia-d38475d122beb9515c661ce9fc464880-1000px-R0015075b_Fit_Frame_ancillaries_Screenshot_32.png.png

	R0015269 Fit Frame ancillaries
	Contents
	Introduction
	Step 1 - Unless otherwise stated
	Step 2 - Fit basket brackets
	Step 3 - Fit first wire basket
	Step 4 - Fit 2nd wire basket
	Step 5 - Fit 3rd wire basket
	Step 6 - Fix wire baskets
	Step 7 - levelling bracket positions
	Step 8 - Drill and mount levelling brackets
	Step 9 - Mount cabinet braces


